Solving Two-Step
Number Stories continued)

€ Tommy is playing a board game with his sister. On his first turn, he
earned 15 points. On his second turn, he lost 7 points. On his third
turn, he earned 12 points. How many points does he have now?

Number model(s):

Tommy has points.

O Carrie had 23 markers. Luis gave her 7 more. She now has 15 more
markers than Owen has. How many markers does Owen have?

Number model(s):

Owen has markers.

Try This

© On Monday Ellie had 18 gold stars. On Tuesday she got some more
gold stars. On Wednesday she got 4 more gold stars. She now
has 28 gold stars. How many gold stars did she get on Tuesday?

Number model(s):

Ellie got gold stars on Tuesday.

one hundred fifty-one 151



